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A R 4 thE DR K P R (2498~ W/)
1.0m 0.5m
FHFE/NERT (FR) T £ 0.20 0.20
EHRE/NER2 (L) * = 0.14 0.16
EHFE/NERS (FE) T £ 0.20 0.21
FHE/NER4 (FAR) t = 0.23 0.26
HHFE/NERS (ER) T £ 0.17 0.17
i 0.19 0.20
Frk23%11R48
BIEH R HhE DR Kix AR (2472777 M/
1.0m 0.5m
EHFE/NERT (FR) T iy 0.20 0.21
FHE/NER2 (L) * i 0.15 0.16
EHFE/NERS (FE) * iy 0.19 0.21
EHRE/NFR4 (FAR) T i 0.23 0.25
EHFE/NERS (LX) T iy 0.15 0.17
i 0.18 0.20
FR23512A208
HITE 5 4 thE DR P AR (<Aomy— W/)
1.0m 0.5m
EHRE/NERT (FR) T i 0.19 0.20
HHFE/NER2 (L) T i 0.15 0.15
EHFE/NERS (FE) T i 0.20 0.22
EHFE/NFR4 (FAR) T i 0.23 0.25
EHFE/NERS (LX) T i 0.16 0.16
Fiy 0.19 0.20
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1.0m 0.5m

FHRE/NERT (FR) T i 0.19 0.20

EHRE/NER2 (L) * i 0.15 0.14

& HFE/NERS (FE) T i 0.18 0.20

EHRE/NER4 (AR) * i 0.21 0.23

HHFE/NERS (ER) T i 0.15 0.16

Ty 0.18 0.19

Frk24%2A228

BIEH R HhE DR Kix AR (2472777 M/

1.0m 0.5m

EHFE/NERT (FR) * £ 0.17 0.18

FHE/NFER2 (L) t =5 0.16 0.16

EHFE/NERS (FE) * £ 0.19 0.20

FHE/NER4 (FAR) t =5 0.23 0.25

EHFE/NERS (LX) * £ 0.16 0.17

i 0.18 0.19

TR24%3A16H

BIE R 4B HhE DR PSS AR A9 /5

1.0m 0.5m

EHRE/NERT (FR) * £ 0.18 0.20

SHE/NMNER2 (L) T £ 0.14 0.15

EHFE/NERS (FE) * = 0.18 0.19

EHFE/NFER4 (FAR) T £ 0.21 0.24

EHFE/NERS (LX) * = 0.15 0.16

Fi4 0.17 0.19




